PLANE GEOMETRY Mathematics

. l *

(83)

2.
(83)

~ -

(83)

4.
(63)

a.
(E3)

In the figure, D is a point on
BC and AC=AD=BD. 4LCAD = :
A. 20°
B. 25°¢
C. 30°
D. 35°
E. 40°

The sum of the six marked angles
in the figure is

A. 360°
B. 540°
C. &00°
D. 720°
E. .R00°

In the figure, chaords AE and CD
intersect at P. BP=DP. £ CAD =
A. DB@

B. 8&°

C. 8g°

D. @z

E. 1429

In the figure, the three sides of _
DABC touch the circle at the points

F, 8 and R. (L PFPQR =

A. Z0o<
B. 50-°
C. 55°
D. 70%
E. 75°

In the fTigure, ABCD is a quadrilateral

AB=BC and AD=DC. Which of the follawing

is/are true 7?7

E. (1), (2) and (3}

at E. The length of the minor arc BD is
three times the length aof the minor arc

AC. /L BAD =

A. J1° ‘o
B. 35°

C. 4z°

D. 45°

E. 5¢&°

B

P.1

witih

(1) LBAD = L BCD - (2) ACL BD A ‘ B
(3) BD bisects AC

A. (1) only g
"B. (1) and (2) only

C. (1) and (3) only

D. (2Z) and (3) only ' D <

In the figure, chords AB and CD intersect

Ve,

C
/ N\ A
D
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In the figure, PQ and XY touch the

circle at A and B respectively, o Q.
FQ // XY and [ QAC=&0°, £ CBYX = - P

A. 150°

B. 135°

C. 120°

D. 110° . .

E. 100® : X Y

, . 8
The sum of the interior angles of a convex polygon is
greater than the sum of the exterior angles by 360°. How
many sides has the polygon ?

AL 3 B. 4 c. 5 D. & E. &
In the figqure, x = 7

A. 31

B. 34

C. 40

D. 48

E. It cannot be determined.

In the figure,‘AB and AC touch the
circle at B and C respectively.

/A =
A. 3IQ°

B - 40«‘_!

C. so° >
D. Bo< -

- =Oo

£.. 859 | A -

In the fTigure, 0 is the centre of
the circle. TA and TB touch the
circle at A and B respectively.
0Aa = 2. The length of the arc

APB 1is

A. /4

B. w/2

C. 3wn/4
" D. 3Ius2

E. 3n

In the figure, XY/ BC. AX:XB=2:1. If the A
area of the trapezium BCYX = 20, then

the area of & ARBC = '

A. 80

B. &0

C. 45

D. 40

E. 3& C

In A ABC, BC=a, AC=h, AB=c and a > b > c. Which of the
following must be true 7 :
(1) LA > 4B > £C (2) b+c >
A. (1) only B. (2) only C.
D. (2) and (3) only E.

a (3) LB + LC > 2£A
(1) and (2) onlyw
(1)

1
1),(2) and (3)
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In the figure, AB is a diameter of - P
the circle. AP = AQ. AB = 10 and
BP = 8. PQ =
A. S
B. & 8
C. 6.4 A lo
D. 8
E. 9.6 '

. ' i Q@
In the figure, the chords BA and Co,
when produced, meet at P. Thé chords
AD and BC, when produced, meet at Q.
LB =
A. IS
B. 40°
C. 45°
D. 350%
E. 25¢
In-the figure, ABCD is a cyclic

quadrilateral.

E.
A.
B.
C.
D.
E.

The exterior anglesjof a pentagon are x°, Z2x°,

o9x <

A.

In

BA is produced
DA bisects LACAE. LBCD =
40° :

45(}

30«

35¢

&S

interior

Ix2, 4x° and

- The Sma;lestkﬁngle of the pentagon is
120° B. &0° C. 48~ D. 36° E. 24°
the figure, A,D,E and B lie on

CE biscects 4 ACB

a straight line.

and CD.L AB. 4 DCE =

A. LS — yvo)

B. %(x° + y°)

C. x° — y°

D. 90° — %(x° + y°)

E. F0° = (x9— v}

In the figure, ABCD is a rhombus. B is
the centre of the circle. 4L ABC =
A. 105-°

B. 120°

C. 130*

D. 135«

E. 150°

In the figure, LC = 920°. P and Q
are points on BC such that

BP = PG = RC. LCaQG =

A. 30°

B. 25°

C. 22°

D. 20¢°

E. 15°
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‘following must be true 7

LI A,X,0 and Z are concycli

B. 4
c. 23
D. 3

In the figur=. 4B s a rectangle.Z
G

C 1

such that L AED=90%.
o,

~

is a point an ZC
= 5. The area aof ABCD= B

AD = 137 and DE

A. 30 ’
B. 32

C. &60.

D. &5

E. 120 A

In the figure, ABCD is a rectangle. E,F,

G and H are points on the four sides suchﬂ

that EF /DB /7GBH. AF = FB and HC = Z5OH.
What fraction of the area aof ABLCD =s

shaded 7
A. 13736 B
D. 25/72 E.

C. 25/36 E

$a(d

NN

N b

2
17:__\

In the figure, FG touches the circle at
E. The chord CB is produced to meet GF
at A. LACE =

A. 10°

E. 20°

C. 25° _

D. 30° : o ‘

E. 35° .F A

In the figure, the circle- touches the
sides of N ABC at X,Y and Z. 0O is the
centre of the circle. Which of the

I. DA bisects < BAC
ITI. AX = AL -
A. III only B. I and II only
C. I ana III anly D. II1 ana III only
E. I, II and III.

In the figure, x =

A. 77
B. 84°
C. 267
D. 103°
E. 1135°

In the figure, ABC, ACD, ADE and
AEF are right—angled isasceles

triangles. If AB=BC=1, how long
is AF_7?

A. ZJg. ) [~

E. (S
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27. In the figure, A, B, C, D and E lie g
(846) on a circle. AC intersects BE at K.
LACD = 100e and Z CDE = 13¢°.
If BE/#CD, then AZLACB = /
A. 25°
B. 3Q°
C. 3&°
D. 40° .

Z28. It the five interior angles of a convex pentagon form an
(8&) A.P. with a common difference of 100, then the smallest
interior angle of the pentagon is :
A. 3S2° B. 72° C. gge D. 98° E. 108°

) ‘ | A
29. In the figure, ABCD and EFGH are £ ANE x F

(86) two squares of side 1. They are rl_vlf>&<~—w
' placed one upon the other with : X ,/{ G B

/

their centres both at 0O to form 7
a star with 146 sides, each of
length x. Find =x.
A. 277
B. 1/3
C. 275~
- D. 1742 +\2)
E. 1/(1 +J2)

3I0. AD and DC are equal chords of the

(B6) circle ABCD. L CDB=40°, L DAB=100°.
L ADB =
A. 2Z0°
B. 25
C. 30~
D. 35°
E. 40°

31. In the figure, AB and AC are tangents to
(8&) the circle BCDRD. If /[ BDC=S0°, then LA =
A. 130«
B. 100~
C. 83<
D. 80°
E. 30°

32. In & ABC, AP = 3, AQ = & and QC
(86) If 4LAPQ = 4 ACB, then PB =

A. 7 - '

B. 8

C. 10

D. 17

E. 20 8

33. In the figure, chords AC and BD meet at
(87) E and AB /I DCT If LCED = 104°, find {ABED.
A. 76°
B. 52°-
c. 38¢
D. 14°
E. It cannot be determined.




34.

(87)

33.

(87)

36 .
(87)

37.
(87)

38.
(87)

~ -

(87)

In the figure, BD=a, DC=b and the area’
of & ABD=s. Find the area of A ABRC.

A. s{a+b)/a o -
B. s({a+b)/b

C. s(a+b)=/a=

D. s(a+b)=/p= - g
E. s{a=+p=)/a= T q D & c

In the figure, AB, BC and CD are three £
equal chords of a circle. If /4BAC = a, D
then ALAED =
A. 2a

B. 3a

C. 9C° - a
D. 180° - 2a
E. 180° - 3a

In the figure, ABCD and ABEF are puan e B
parallelograms. Area of ABCD

== D C
. Area of ABEF

A. ADB/AF A

B. BG/BF :

C. BC/EF

D. AD=/aF=

E. BC=/EF=

In the figure, 0 is the centre of the
circle. a + b = ST

A. 180
B. c
C. c/2

D. 180° - cC
E. 180° - /2

In the figure, 0 is the centre of the e
circle. If &B = 12 and AC = 13, then

cas9 =

A. S/12

B. 5/13 A
C. 12713

D. 12/2%5

E. 13/25

C

In the figure, C is the cegntre of the
circle. ABCD is a straight line. AGR
touches the circle at Q. If L DAR=20°,
then LDGER = )
A. 3I5°

B. 40°

C. 55°

D. &5°

E. 70°
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In the figure, DE# BC and AB/ EF. ’ A

If AE @ EC = 1 : 2. then X

area of ANADE:area of parallelogram BFED=

A. 1 : 2 '

B. 1 : 3

C. 1: 4

D.'1 : 5

E. 1 : & 3 -

In the figure, PGRS is a rectangle with
PQ = 24 and PS = d. T is the mid~pointP
of PRQ. V is a pgint on SR and

area TQRV d
A. 14 :

B. 16

C. 18 S v R
D. 20 .

E. 22

In.-the figure, O is the centre of the circe
of radius 5. AR is a tangent and :

ADQ = 12. AC = ' -

A. 4

B. 17

c. Jz19

D. V244 : ¢
E. V269

In the figure, 0O is the centre of +he
circle of diameter 13. AC=12. $inGg =
A. 5712 '

B. 3/13

C. J313/13 A
D. 12713

E. 13712

In the figure, TP and TQ are tangents

to the circle POR. If LRPR = 70° and
LPTGQ = 502, then L RGP =

A. 20°

B. 45~

C. S5S0°

D. &0°

E. 70°

In the figure, ABEF, BCGH and CDIJ ’ 7

are three sguares. If AB = 2, .

BC = & and F,H,J lie on a straight

line, then CD =

A. 8 H G

B.” 10
C. 12
D. 16

N

E. 18
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ABCD is
AB = AD
A. 75°
B. 90~
€. 105e
D. 120°
E. It ca
In the f
of the t
A = J12
A. 172
B. 2

C. 4

D. &

E. 8

In the f
AB 1 BD,
A. 10

B. 12_
C. J13
D. 426
E. 2J13
Imn the f
A. 30°
B.. 3Z2°
C. 36
D. 4Q°
E. 72°
ANGSWERS
1.E 2.
11.D 12

21.C 22.

J1.D 32

41.D 42

a cyclic quadrilateral with

A
and CB = CD. Find zdﬁBC¢ / .

nnot be'found.

igure, 0, and 0z are the centres
wo circles, each of radius r and
. Fing r.

igure, ABCD is a parallelogran.
AB = 3 and BC = 5. AC = A—— 8

D c
igure, if AB = AC and AD = BD = BC, then L ACB =
a. !
.- i
D
B c
D 3.C 4.8 5. 6.0 7.6 8.D 2.C 10.D |
B 1Z.C 14.E 15.€ 14.C 17.B 18.A 19.E5 20.4
D 23.C 24.E 25.D 26.B 27.8 28.C 29.D 30.A
b 33.C 34.A 0 35.8 F.B 3I7.E 3I8.B 3I9.C 4o.C
.C 43.B 44.B 4S.E 46.B a7.8 48.F 49 E
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Plane. Caormetry.

L@ = LoV = )

§:~LBAD1=I&0{%06292“

l C Immanuel Lutheran College = 3%0‘
LepAR= LCDR
0 = BOG
35 B
A - LTAD
sinee AD =D = LBAD+ CAR
- LDRA=LDAB = 24°+ 50
= 3R% o
S LADC = LDBA+LDAB.
= 35°+3K5°
=70°
<@ AC=AD.
LACD =LADC .
=70°
L Lehp = 158 10 10"
= 40" ~
 (B) st AR, AQ owe tongends
'3 AR = AQ
L LAQR = LARQ
T~ - 180-30°
2
= 18°

Sum . 6{ St L‘W\'\X&L 2
- sum ae A -{-’%Cﬁ{m%l%do
= 180+ 3607 4180

=720 (D)

since BP=0P.

L LPRD = LFPDB.

[PBD +1fDB =100
LPDB = BY

G\C zg PC Cung {W\Ws
QC=pC.

s e AD L 180767
~LeQP = 270

= BRY

LPQR = 130°-15% 55"
=50° (B)

\L) Ananves
AR =8C
- LBAC = LBCA .
in ARCD.
AD = cD

(DAC = ZhCP,
LBAD
=LBAC+ LDAC

LBCD,

SN (1) e trna.
(2). Hhe fing %gwﬂg.

et fro f
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sogunet  He (ines one
perpeolieowlonr . 2 ACL BD
@) 48 =BC

KD = D

sl BDP W oM@

LARBD 2 ACRD (565

d

.

. JABD = LCBD.
AR =RC
BN W& co e~

~AABN 2 ACRN (s4S)
o BD blaeets AC
Q) 1(2) vl (3)

re Trug (E)
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~ [BAD =3 LADC
n DRADE

180'= 24¢°+ £8DA+ LADC |

LBDA+ 3 LBDA = 5L°
ceof = ¢2° (C)

sme PQ mjraw%!wff\

[RBC = £ QhAC
:600

VX
. LABX =907
LCBY = LABC + (ARX
= (o490
=580 (A)
Aok n be the slole
Tt Teer @v“‘X(Q-
= i%’o%@wg)_

< YETLN Rox O (\a/f‘,a (g/}f OXK
Pl 3607,

. (%oo(w.—Q.}~ 2600: 2600
(%Cf(wz) =720°

n-2 =4
N —;ée

(D)

L B2 200

x=40" (TC)

LBOC = 2[BDC

= 2(50°%)
= lo&a‘

Sihe LBOC + 1A =50
s LB = teo -10€

= SDQA(D_‘)

- LROR LATB=1%0°.
| LROB ¢ 50 =50°

Ki

3T

(Aol =186° = T

Lo the Duath of the one

APB.

= ("
o
3

-

= =1 (D)

sz XY /f BC.
BARY «~ AABC

Ax < xB =27
L AR AX =372,
owea of DABC _ __Af__ 2
mma%!l‘\?(\f *(A’Kg
e

Loea  ARXT = E oo of AABC

aweaof ABC - awea c{ BAXT =20
%mo. ARBC =20
oo o4 BABRC =3 6. (E.)
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s > 4mB el ;
A> B> (.
D) b+e v s frus. B
Sum o{ oy Ao svd es (Bt L0 = 10
B maokec fhon the A LR+4d = 1.0
Side (L4360 =/.D
(2) % LA 7%35 Bt 70° = LD
Btz < LA ;

L) 6 (2) My )

sinee AB 15 a &YOW{M.
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M
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T

LB+ LD =130°

SLBHT70 = IR0 LB

[8=56" (E)
Bﬁ B
LCBD :LCAD(e%ueQ wic )
LC!AD :SOOM

swee DN hrecks LCHT
w [DAE = LCAD =B0°
ABCD 5 O C%Q(YL agmd.
LBRCD = LDAE

50 (¢.)
ML oxdanter m?@_s.:ggoﬁ |

[T

kS
Ao

2 2 B 22
\Ex =370
K= 24

sue. ABCD n u,&cl.'c, %uud

8]

150 - 5(2¢) -

(8)

. QDD.

LACE = (80" -4y "
LE  blasets

> [ACE

IANCB .
A IS
Llsox-o).

1)

1"

LACD = 0% k"

L UDCE = LACE-[4cD
N e AL

=1y ()

3
(hEC = LAk

. 0
LAEC + LADC=1R0 -

sace. ARCD 18 o vhombus

LADC = LARC

S LlARe + AR =1%0°

LBC =1207(R)
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A = AD -DE’
KE ="~ 5>
AE = 12
N Uf(— ARCD
= Ao\ omee of AADE

= 9~{'§(6)(Q§}
= (o. (o)

20 et

% G
Tu AARD % AAEF
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LAEB = LACF

2LACE = Bp®

s GF W o fangend.

LUACE+30 4100 =300

LACE =257 (¢ )

(L) since. BB g AC ema

Tongout - A bisechs.
LRAC

(L) LoxA=Llozh =9c.
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A =[12qp
-G

o =l z% 5%
= 2.

RE = f2%+2°

3-4_

(B)

5‘;1&(;;\ RE/CD.

L IBEP+/CDE =180
[BED = %0-130°
=50°

(BCA =RER.

Sine ARCD e wwcy&o(k, |

L o o °
S IReA+ 5o 4100 =180
LBCh=30" (B)
28, LA, tha smodloct .
/)V\.%I/‘/ZW ey h@ w.
X, K+, Kt20, %30, A4S
S 2%t %t68) = 540°

Y +o” = 216
x =% (C)

2t [¥E =1

WX+ A2 X = |

LQAC = [BDC ::QJOG\

- LCAD = [DAB - LBAC
= IDQG— (I*OO
=46°.

s AD =CD
SLDCR = LCAD =£0

LLADC = 1807~ 2% L0°

= 60"

LADR = LADC - 1BDC
= 60"~ ¢o°
=20°. (A)

. LBOC = 2LBDC
= 2(50°)
=1060°

LA tiBoC = (30
~ LA >§0°‘ (D)

S (e LP =1C
[\A V3 Lot ron |

. AMABC V‘ﬂﬂ\@xg?

A\

B C
AB AC
AR AP
AB [0
& 3
AR = 20
PR = AR-AP
< 203
= (D)
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L
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-5
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= A9
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SAC = Aﬁx@% ac?
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= 217
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R = Iggz- \Cah
= 403507
= K,
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L LOAC=LACO = O,
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LRoP =180 -B0
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Liqop
= (&7,

L LRQP = 130%-T0 ~¢x°
= ¢5° (3
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- LOAO, ﬁéﬂo_
LO, AR = £0°

cD=BC.
amd AC 1o Common .

. AACD £ AACB

. LABC = LADC,

< IABC+ LADC =18
[ARC = {0° (B)

&1,

5 | o = B

. 3.
Sme =
T AABC

1}

-2
[
i

fb 1ACB =g

e MR =AC ¥
RC =RD

LABD = 1B =188-2p
T (AD =8D)

LA+ A8D < [BDC F3

CA =0A 361‘02:?, o :
2(180 “20)= @.

. O
2 =30,

A= Ab%ec ~ KB eadfots
= 3457005 )( ~5in0)

AC = 94254 30 (%)
Ac = JB2

~LBPC = [ARC=/AcR=¢.
A= l%'@“»?@,h

Yo = B¢
Q@ = 720 <”E)



